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t. When a high resistance is connected in parallel with a low resistance, the combined resistance is

{a} higher than the 10wer resistance
(b) lower than the higher resistance
(¢) between the value of high and low resistance
{d) less than the lower resistance

15 c]l\wd‘ s trug 7 _
{8} the voltage drop across each resisior i tiﬁ:i%;&gie
(b} the current through each resistor s :

{c) the power dissipated in cach rosIstor s the&same

(d) the energy cov‘snmnfmmm w\h»feﬁumonis the same

-
Mrap”

7 i_{eg,arding Norton's equivalent, ,wh-h_h (ff“’f’lp followmg 18 pot-correct

{b) Norlou'.&; gﬂwslur is the current equivalent of the network

\L) Nért’(ﬁn s%e@gwa!ﬁ%pt to resisiance is the same as the Thevenin's equivalent resistance

5‘&/’&&&@3 )
of,.u %Wﬁnn&.t d in paraliel to the Norton's equivalent resistance and Norton's

()
; “'Wﬁa’) btrmot}n of a permanent magnst
f: (b) Strength of an electro magnet
(¢) The repulsion of two similar poles
{d) The conductivity of a2 matenial for the magnetic flux
5. Time constant for an R-L series circuit s given by ( .

e
!
B ™

{(a) R/L by UR.L (c) RL (d)
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6. The direction of induced emf is given by £ )
(a) Fleming's right hand rule (b) Fleming's left hand rule : !
(c) Kirchoff's voltage law ~ (d) Kirchoff's current law
7. If the fre'quency of pure inductive circuit is halved, then the current of the circuit will be
v | | L)
(a) same (b) doubled (c¢) halved (d) four times
8. The maximum and minimum values of power factor can be . _ e
(a) 1and0 (b) +land—1 (c) +1and—5 (d) +5and-5
9. Eddy currents in a core can be minimized by v
(a) decreasing the flux density (b) laminating the core
(c) reducing the core volume (d) decreasing the number of turns
10. In a periodic table, the elements are arranged in order of increasing
(a) Atomic weight : (b) Molecular weight
(c) Atomic number (d) both 1 and 2
11. The function of a commutator in a d.c. machine is ] i
(a) to improve commutation (b) to change a.c. curreﬁfgiwd._:&
(c) to change a.c.voltage to-d.c.voltage (d) to provide casy spee& _oﬁtrol e
12. If the number of poles in a lap wound d.c. generator m{,reag,ed W:@&fa _\h__'%;’*z the generated
emf will e , %zﬁ . { }
(a) increase by a factor of 2 ccreas < bv‘?éwi‘aifmr of 2
_ (c) increase by a factor of 4 5% \" et :
13. Speed of d.c. shunt motor can be mcr;:;ed by 2 wiv | ( )
(c) decreasmg the-resistance 11‘?§hc ﬁe]d current
(d) decredsmg"%he &;s@tance in’ the armature circuit
14. A start&rﬂs uae@% a dﬁé, motor because ¢
l_ﬁ Sﬁ?ﬂg
'tm@@gback emf is zero and armature current is hlgh
_ @sfmewssary to overcome back emf
:S resistance is very high
15, If the field winding of a running shunt motor suddenly breaks open ¢ )

*‘Bﬁ’& S

i

(a) its speed slows down

(b) it stops at once

(c) it gives out sparks

(d) its speed becomes dangerously high
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16. The direction of rotation of a d.c. motor may be reversed by ()
(a) reversing the supply voltage
(b) adding resistance to the field circuit
(¢) reversing armature connection

d) interchanging the armature and field connection
g

17. When an clectric train moves down a hill, the d.c. motor acts as L)
(a) -d.c. series generator (b) d.c. shunt generator
(¢) d.c. shunt motor {(d) d.c. compound mntor

18. Moving coil instrument can be used for measuring at S |
(a) high frequencies (b} low frequencies
(¢) only d.c. (dy both de. and a.c

19. Sensitivity of a voltmeter is expressed as
(ay Volts/ohm (b} Ohms/volt
(c) Ohms volt (dy Siemen/volt

20. Transducer is a device which
(a) converts one form of power into another
(b) converts one form of energy into another
(c) helps in measuring clectrical signal

(d) is similar to a transformer

21. The capacitance of a parallel plate capacitor is ng
(a) thickness of the conducting plates i :
(b) area of the conduciing plates e
(c) distance separating the plates

B

(d) nature of the dielectric t ﬂ:tiiﬁé

22. In a parallel RLC circuit. at re§§f'§a { )
TE
line currcn&t»ﬁ maximum &
total 1mped%me is minimum

MMM,-

Wi :tot@iz’imyedamae IS maximum

s when the power fac-_tor angie ¢ is equal o

i i}

0 s
{hy 60 (c) 30 (d; 0

.

W In a three phase system, the phase sequence is used Lo indicaie the ) ( )
(a) amplitude of the phase voltages
(b) frequency of the phasc voltages
(¢) order in which the phase voltages attain then maximum values

(c) phase angle between the phase voltages
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25.

26.

27.

28.
29.
30,

31.

23

33.

35,

{a} always the same
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The bandwidth of a series RLC resonating circuit is represented by ( )
_ R . C
() 5 (b 5 (¢) 3R @ 7%
The no load current of a transformer t_yp.ic.any forms the following percent of full load
current (=0
(ay 1to4% (b) 4to §% {c) 8to12% (d) 12 to 16%
As compared to an electric mo'tor; the efficiency of a transformer of the same rating is
| | () |
{2} much higher {b} slightly higher
{c) slightly smaller {d) much smalier
The short circuit test is used in a transformer to determine - ' { )
{a) copper losses at any load (b) hysteresis loss

{c) iron loss at any load A {d) eddy current ioss
Tweo transformers operating in parallei share the load depending on their
(a) efficiency (b} rating - '

{c) leakage reactance

(d) per unit 1mpedang@ <

(c} always diffefeni

{(a) 53[1{111’0110145 impedance mcthodir_
(¢) MMF method .

“’) I‘x&o reaction method

Power factor of an aitern "_-iﬁﬁwmqmut Prime mover input can be changed by
changing its ()
(a) speced (b) {c; field excitation (d) phase sequence
A four pole; 1@;@ winding 18 placed in a stator that has 48 slots. The number of slots per
pole per pha - : , ()
e 'zﬁm'vs& g (ch £ 2
2 o = {b) 8 _ (c} 16 (d) 32
an a&i@m@fi‘%r if X_is the synf'hmnow reaction, X is the leakage reactance, then the
actz ___c’f?Xﬁ due to armature flux is given by : L)
=K HX (b X =X =X,
! - . A5 Ty 174
(c) X=X -X, (dy 2= (5 +X 7
A 3-pole. 4-pole, 24 slot alternator hm its armature coils short pitched by one slot. The
pitch factor becomes { 3

{a) 0.94 ' (b) 0.9659 (c) 0.98 (d) 1.00
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36. If the ficld of synchronous motor is under excited, the power factor will be t 3
| (a) leading | (b) lagging

(c) won't be effected (d) unity
37. The starting torque of an induction motor is maximum when { )

(a) rotor resistance equals rotor reactance
(b) motor resistance is twice the rotor reactance
(c) rotor resistance is half the rotor reactance

(d) rotor resistance is ~/2 times the rotor reactance )
38. At zero slip of an induction motor

(a) the motor runs at synchronous speed

{b) motor runs as a generator

(¢) motor does not run

(d) slip produced is zero
39. The term crawling implies that the machine is
(a) running stably at speed greater than its synchronous speed
{b) running stably at speed as low as one-seventh of its 53-’11&11‘0;'{(}1.;S;'s'_i eed
(¢) running at lower speed with a low supply voltage &
(d) showing a transient behaviour while running at higher
4G, Single phase induction moter can be made self starting by
(a) adding a series combination ¢ )
main winding
{(b) adding an auxiliary winding in pai aﬁegwtlbf l"ﬁe I
(c) adding an auxiliary winding in series with aﬁcapdutor and ﬂ”lt, main winding
(d) adding an auxiliary wmdm in p@mﬂel wzi‘fh resistor and the main winding

e,
g

41. In a semi-conductor, the move: "zm@of Holes is due to
() movement of holes in the conduction band

(b) mov ement oﬁ clcctmm in the conduction band

(¢) mcwemeiﬁ- ‘f c[ectrom in the valance band
(d)wmovemenfm@gies in valence band
42 “Ina P%P tma{»l%ter, the saturation current is due to the flow of {
' Fe @'”g,lectrons flow collector to base {(b) holes from collector to base
e <) electrons from emitter to bace (d) holes from emitter o base

A :?Se F

43 “An n-type FET is never opecrated with positive gate voltages with respect to the source
<" because {= 3
(a) gate to source current is to be dwuued ‘

(b) drain current does not incrcasc

(c) drain current does not remain constant

(d) drain current becomes very high
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44.

45,

46.

47.

48,

11
[ =]

= =

. “Tn a 3 phase full converter, the six SCRs are fixed at intervals of ()
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-

W,
s

The gain of an amplifier will be more affected by change in transistor parameters in case of

()

(a) positive feed back {b) negative feed back

{(c) zero feed back ' (d) both 1 and 2 )

A Hartley oscillator uses {0
{a) a tapped inductor (b) a tapped capacitor

{c} both the above (d} an inductor

A modulator is a system to { )

(a) separate two frequencies

(b} impress the information onto a radio freguency carrier

¢) extract information frora the carrier
{d)

amptify the audio frequency signal -

i an transmission of signals the frequency which is not transmitted is

{a) upper side frequency (1 lower side frequency
{c} audio frequency {d) carrier frequency
A switch tail ting counter is made by using a singie D flip-flop.

fa) SR flip flop

-

{c) D flip flop

The outpat of a logic zate is 'l '
(a} a NAND or an EX-OR gate

(¢) aOR or an EX-NOR G&t@%&

The binary code of {21 ()
{a) 10101.001 e 'n} i@i(}{] 801 f¢) 10101.010 (d) 10100.111

A free wheéhr%»é"c;ciy is Dlaced across the d.c. ioad {

{a) . I*B’ p c\cntgmuwi of load voltage
3 ; i Sc

@{@ ’F@I“pu*nmii ansfer of load current away from the source

(a) 30° (by 60° 90" (4) 120

aumber of SCRs conducting during overiap is

)

In a single phase fully controlled converter,

N Py i) }
P o) 3 (dy 4

Ly

{a) 1 {b

1
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54,

5

iy
fea]

Ly
b

&0,

61.

S S e S s S 19
g8 -

S Be- Sat s e
A singie phase fuily controlled converter is a ()
(a} single guadrant converter (b) two quadrant converter
(¢} four quadrant converter {d) none of the above
Power factor is equal to | (G

(a) (displacement factor} . (distortion factor)
(b)Y (displacement factor)/{distoriion facior)
(c) displacement factor

(d) distortion factor

While plugging of a separately excited d.c. motor, the supply to the armature is ( )
{a}) reversed : {b} connected to a resistance

(¢) connected to a.c. supply (d) nonc of the above

A three phase a.c. voltage controller feeding a three phase induction motor has an output
of

(a) constant voltage of vanable frequency

(b} variable voltage of variable frequency

(¢} variable voltage of constant frequency

(d) constant voliage of cousiant frequency

Keyboard/display interface f 3
(ay B233 (b} 5239
The 8051 micro controller 15 of PrOCessor

()

(ay 30,1 byte (b) 20. | (c) 40, 8 bit

In 86351, which interrupt has

(ay 1EI (b} gfc_) [EO tdY TR
The maximum d emand of a consumers is 2 kW and his daily encrgy consumption is
20 uni Illbﬁ‘&*&iactm is , ¢ )
(2) 10% - (¢) 50% (d) 100%

the protection of { )

(b) Medium length lines

(d} No length criterion

—
p—

The Rm.hlmttz reia‘y protects a transformer from

(d) Ail types of internal faulis (b) A tumn to turn fault
(¢ Winding to winding faults (d) Line toline faults
It is alwavs economicai to improve the P.F. of an nstallation to { )
(ay Zero (b} Unity
(¢) A little less than unity lag (d) A little less than unity lead



128
65.

66.

67.

68,

79.
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e e

The main criterion for the design of a distributor is : £
(a) the vo{tage'drop (b) Corona loss

(¢) Temperature rise {d) Radio interference

Auto reclosing is used in case of ()
(a) Lightning Arrestor (b) Air Blast Circuit Breaker

(¢) Bulkoil C.B. . (dy Minimum oil C.B.

The unit protection scheme provides s | ()
(aj Back up protection (b) Remote protection

{¢) Simultaneous protection (d) Pfimary protection

Lightning Arrestors are used in power systems to prevent electrical equipment against

(a} direct strokes of lightning
(b) power frequency voltages

(c) over voltages due o indirect lightning strokes#s -
(d) over currents due to lightning strokes
A reactor is a coil which has _
(a) low inductive reactance and high resistance
{bj high inductance and lower resistance

{¢) low inductive reactance and resistance

(d) inductive reactance and resistance are samc

To reduce short circuit currents,

{a) Resistors
(b)Y Reactors
t‘:) Capaci'tors

(a) 66kY M (d) 220 kV
72. In cables, sh%g;hvhs Jbt.d to ¢ )
(a) vstﬂn&theﬁ%he cable conductor -
@b} pg@mde u;;si.@almn
«ggiﬁ m;ﬁmpré gﬁnmbm; ¢ from damaging the cable
S prowde charging current
'_-A.i-j.fmt of inductive reactance of a transmission line is ()
__-%  (a) Henry (b) Farads (¢) Ohms (d) Volts
" 74. In the medium transmission line representation, which of the following: parameters are
inciuded ( )
(a) Resistance and Inductance {b) Resistance. Inductance and Capacitance

(¢ Inductance and Capacitance (d) Resistance and Capacitance

s
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75. Strain type insulators are used (O
{a) at intermediate anchor towers {b) on straight runs
(¢) at dead ends {(d) when the voltage is 33 kV

76.

i
:q

78.

]
oy
S

81.

The phenomena of rise in receiving end voltage of the onen circuited or lichtl loaded line is
= & t & y

called the (S

(b} Proximity effect

o=t

(a) Ferranti offec

{c) Skin effect {d) See back effect

A uniformly foaded d.c. disiributed AB is fed at both ends A and B with equal voltages. The
maximum voltage drops ocours at = { )
(a) end A {b) end B

. . . A ) ?1/ - . )
ci at the mid point of the distributor (d} at Y, of the distance from end A
F ; /4

The method that can bring the locomotive

tatic braking

o,
=
i

=4
o
4]
o
o

{¢)} regencraiive braking
In the cas DC system, there is
(a; Charging current but no skin effect

effect

" charging current nor skin effect

ing current and skin effect

¢ )

e} Circulat’ {4) Independent of shape

c of the conductor is

f")

orona joss is less when the

(a) Oyl {(b) Flat

i

The voltage required to pruumc arc m arc w\.id ng in the range of (

a) 20-30V (4)

£

.
L

In case of ¢

¥ -3"3??‘ il
e

e 284

{a) molten stajgéfw E@(b’) solid state (¢) gascous state  {4) cither | or 2
e -

Choke -is-pm.-'v'icf"éﬁ*’giﬁ’gl?]1101"‘-" cent tube { )
(@?Zj‘ o provide '-:Ld")il] 0 the are in the tube

 avoid radio interference

improve power factor

) eliminate corona effect

During starting, the train resistance - )

(a) is zere {b} increases linearly with speed

(¢} toliows an exponential law {d) increases as square of the spee

|
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e

In d.c. series traction motor operating on the linear portion of magnetization curve of core

material, speed N and armature current | are related as ()
. | 1

(a) Nal (by Nal (_C)N{IT (d)th?;

in traction system high torque should be produced during ()

(b) running period

a) starling period
c) (d) notching period

(

{c}) coasting period
Shunt motors are not suitable for fraction duty because <
(a) Torque developed varies linearly as current

{b) Speed Conirol 1s not easy

{¢) Low efficiency

(d) Produces iow tractive effort

Area under speed-time curve represents
{a) Average speed ' (b) Average acceleration
{c) Total distance travelled (d)} Free running

The friction at the track is proportional 10

{a) S'pee:i (b} {Speed)” (¢) (Speed)’

{:3._} surface area
(¢} itlumination coefts
In the stair case lghting arranﬂemenvts the bulo«g]owvwhen the switch positions are ()

it

in the same position 5

S

(a)

{h) in opposite position
(c) first one in ON position.and. Seumd one in OFF position

(d) first one ;n{)[ F pouﬁomam second one in ON position

For logg rumgﬁft\éa& ewnomical drive used in tractionis  drive. ( )
v %w K;\séif (h} Battery fc) Trolicy (d) P-berid

(b) Decrease (c) Be unaffected (d) Blast

{. When the feedback signal becomes cqual to the reference signal, thenthe signal
~ will become zero ( )
{a) Reference (b) Input (¢) Output (d) Actuating
Human system is a multi variable closed loop control system ( )
(a} False (b} True

{c) No, it is an open loop (d)} Not a control system
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96.

97.

98.

99,

100.

A Driver runs a car at a constant speed of 80 kmph. In this case, the feed back element is

« )
(a) Eyes (b) Clutch (c) Steering wheel (d) Needle of the speedometer
Which type of motor is used in ceiling fan, refrigerator, compressor and other loads requiring
no noise operation ( )
(a) D.C. series motor (b) 3-phase synchronous motor
(¢) I-phase capacitor start and run induction motor
(d) Schrage motor
In the stair case lighting arrangement the number of switches used are R
(a) One (b) Two (c) Three  (d) Zero
An Electric Drive System consists of . ' ( )
(a) An electric motor (b) An electric generator .

(¢) A motor along with speed control system

(d) Speed control system

The speed of a d.c. motor can be varied below the rated speed by g
(a) Field weakening method (b) Armature voltage contgole‘fﬁe’:th(_) s

(c) Both I and 2 - (d) Four point starter
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